# ON THE INCREMENTS OF $l^{\infty}$ -VALUED GAUSSIAN PROCESSES\*

by

Lin Zhengyan Hangzhou University P. R. China

Technical Report #97-20

Department of Statistics Purdue University West Lafayette, IN USA

October, 1997

<sup>\*</sup>Project supported by NSFC(19571021) and NSFZP(195043).

#### LIN ZHENGYAN

## Hangzhou University

Dedicated to Professor M.Csörgő on the occasion of his sixty fifth birthday

ABSTRACT. Let  $\{Y(t), -\infty < t < \infty\} = \{X_k(t), -\infty < t < \infty\}_{k=1}^{\infty}$  be a sequence of Gaussian processes with  $\sigma_k^2(h) = E(X_k(t+h) - X_k(t))^2$ . Put  $\sigma^{*2}(h) = \max_{k \geq 1} \sigma_k^2(h)$ . M.Csörgő et al.(1994) studied moduli of continuity of  $Y(\cdot)$  when it is an  $l^{\infty}$ -valued process under the condition that  $\sigma^{*2}(h)/h^{\alpha}$  is quasi-increasing for some  $\alpha > 0$ . In this paper we establish the large increment result for the  $l^{\infty}$ -valued process  $Y(\cdot)$ .

#### 1. Introduction.

Let  $\{Y(t), -\infty < t < \infty\} = \{X_k(t), -\infty < t < \infty\}_{k=1}^{\infty}$  be a sequence of continuous Gaussian processes with stationary increments  $\sigma_k^2(h) = E(X_k(t+h) - X_k(t))^2$ . Csörgő and Shao(1993) and Csörgő,Lin and Shao (1994) established moduli of continuity of  $Y(\cdot)$  as an  $l^p$ -valued process  $(1 \le p < \infty)$  and  $l^\infty$ -valued process respectively. For the former, the large increments are also studied under the condition that  $\sigma(p,h)/h^\alpha$  is quasi-increasing for some  $\alpha>0$  where  $\sigma(p,h)=(\sum_{k=1}^\infty \sigma_k^p(h))^{1/p}$ . Lin (1996) established the large increment result when  $\sigma(p,h)$  is bounded. What about the large increments for the  $l^\infty$ -valued process  $Y(\cdot)$ ? We intend to answer this question in the paper.

# 2. The large increments of $l^{\infty}$ -valued Guassian process.

Throughout this paper we assume that  $EX_k(t) = 0$  for any t and every k and that  $\sigma_k^2(h) = E(X_k(t+h) - X_k(t))^2$  are nondecreasing in h and strictly positive for h > 0. Put  $\sigma^{*2}(h) = \max_{k \ge 1} \sigma_k^2(h)$ . In this paper, we establish the large increment results for  $Y(\cdot)$  as an  $l^{\infty}$ -valued process with both infinite  $\sigma^*(h)$  and finite  $\sigma^*(h)$ . We pay more attention to the latter case.

As the first part, we consider the case of infinite  $\sigma^*(h)$ , i.e., we assume that for some  $\alpha > 0$ 

(2.1) 
$$\sigma^{*2}(h)/h^{\alpha}$$
 is quasi-increasing.

Let  $a_T, 0 < a_T \le T$ , be a continuous function satisfying  $a_T \to \infty$  as  $T \to \infty$ . Let  $y_T$  be the solution of the equation

(2.2) 
$$\sum_{k=1}^{\infty} \left( \frac{a_T y_T}{T \log \sigma^*(a_T)} \right)^{\sigma^{*2}(a_T)/\sigma_k^2(a_T)} = \frac{a_T}{T \log \sigma^*(a_T)}.$$

<sup>\*)</sup> Project supported by NSFC(19571021) and NSFZP(195043)

The following theorem is an analogue of theorem 1 of [1] in the case of large increments.

**Theorem 1.** Suppose that there exist positive numbers  $h_0$ , A and B such that for any  $h \ge h_0$ 

(2.3) 
$$\sum_{k=1}^{\infty} (\sigma_k(h)/\sigma^*(h))^A < B.$$

Then

(2.4)

$$\limsup_{T \to \infty} \sup_{0 \le t \le T - a_T} \sup_{0 \le s \le a_T} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^*(a_T)(2\log((T\log\sigma^*(a_T))/a_T))^{1/2}} \le 1 \quad a.s.$$

If condition (2.3) is replaced by conditions that there exist positive numbers  $h_1, c_1, T_0$  and C so that

(2.5) 
$$\inf_{0 \le s \le h} \frac{\sigma^*(s)}{\sigma_k(s)} \ge c_1 \frac{\sigma^*(h)}{\sigma_k(h)}$$

for any  $h \ge h_1$  and every  $k \ge 1$  and

(2.6) 
$$\sum_{k=1}^{\infty} \left( \frac{a_T}{T \log \sigma^*(a_T)} \right)^{\sigma^{*2}(a_T)/\sigma_k^2(a_T)} < C$$

for any  $T \geq T_0$ , then (2.4) remains true. If, in addition,  $X_k(\cdot), k = 1, 2, \cdots$ , are independent and for  $0 \leq t_1 < t_2 \leq t_3 < t_4$ ,

$$(2.7) E(X_k(t_2) - X_k(t_1))(X_k(t_4) - X_k(t_3)) \le 0$$

and

(2.8) 
$$\lim_{T \to \infty} \frac{\log(T/a_T)}{\log\log\sigma^*(a_T)} = \infty,$$

then

(2.9) 
$$\lim_{T \to \infty} \sup_{0 \le t \le T - a_T} \sup_{0 \le s \le a_T} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^*(a_T)(2\log(T/a_T))^{1/2}} = 1 \quad a.s.$$

and

(2.10) 
$$\limsup_{T \to \infty} \sup_{0 \le t \le T - a_T} \max_{k \ge 1} \frac{|X_k(t + a_T) - X_k(t)|}{\sigma^*(a_T)(2\log(T/a_T))^{1/2}} = 1 \quad a.s.$$

Remark 1. Condition (2.3) is a correspondence of condition (2.2) of [1] in the case of large increments. It is understandable by comparison with (2.11) in [1] and noting that  $\sigma^*(h) \to \infty$  as  $h \to \infty$ .

Remark 2. As an analogue of Lemma 1 in [1], we have

$$\log \frac{1}{y_T} \le \log \sum_{k=1}^{\infty} \left( \frac{\sigma_k(a_T)}{\sigma^*(a_T)} \right)^A$$

for T satisfying  $\sigma^*(a_T) \geq e^{A/2}$ . Hence

$$(2.11) y_T \ge B^{-1} > 0$$

by (2.3) for large T. Moreover in the same way in [1], we can show the following facts:  $y_T \leq 1$  and the solution of equation (2.2) exists and is unique under condition (2.6), which is implied by (2.3).

Proof of Theorem 1. There is d > 0 such that  $\sigma^{*2}(h) \ge dh^2$  for any  $0 < h \le 1$  (cf. (2.9) in [1]). If  $h_0 > 1$ , then for any  $1 < h \le h_0$ ,  $\sigma^{*2}(h) \ge \sigma^{*2}(1) \ge h^2 \sigma^{*2}(1)/h_0^2$ . Hence, putting  $d' = d \wedge (\sigma^{*2}(1)/h_0^2)$ , we have  $\sigma^{*2}(h) \geq d'h^2$  for any  $h \leq h_0$ , which implies that for  $h \leq h_0$ 

(2.12) 
$$\sum_{k=1}^{\infty} (\sigma_k(h)/\sigma^*(h))^A \le d'^{-A/2} h^{-A} \sum_{k=1}^{\infty} \sigma_k^A(h_0) =: d_1 h^{-A},$$

where  $d_1 = d'^{-A/2} \sum_{k=1}^{\infty} \sigma_k^A(h_0)$ . Let  $\theta > 1$ . Define  $A_i = \{T : \theta^{i-1} \leq \sigma^*(a_T) < \theta^i\}$ ,  $A_{ij} = \{T : \theta^{j-1} \leq T/a_T\}$  $<\theta^{j}, T \in A_{i}\}, \ a_{ij} = \sup\{a_{T}, T \in A_{ij}\}, \ T_{ij} = \sup\{T : a_{T} = a_{ij}, \ T \in A_{ij}\}, \ T'_{ij} = \sup\{T : T - a_{T} = \sup_{T \in A_{ij}}(T - a_{T}), \ T \in A_{ij}\} \ \text{and} \ J = \max\{j : \theta^{j} \leq a_{ij}\}, \ T \in A_{ij}\}$  $\max_{T>0} T/a_T$ . Then  $J \leq \infty$  and (2.13)

$$\limsup_{T \to \infty} \sup_{0 \le t \le T - a_T} \sup_{0 \le s \le a_T} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^*(a_T)(2\log((T\log\sigma^*(a_T))/a_T))^{1/2}}$$

$$\leq \limsup_{i \to \infty} \sup_{1 \leq j < J} \sup_{0 \leq t \leq T'_{ij} - a_{T'_{ij}}} \sup_{0 \leq s \leq a_{ij}} \max_{k \geq 1} \frac{|X_k(t+s) - X_k(t)|}{\theta^{i-1} (2 \log(\theta^{j-1} \log \theta^{i-1}))^{1/2}}$$

$$\leq \limsup_{i \to \infty} \sup_{1 \leq j < J} \sup_{0 \leq t \leq T'_{ij} - a_{T'_{ij}}} \sup_{0 \leq s \leq a_{ij}} \max_{k \geq 1} \frac{\theta^2 |X_k(t+s) - X_k(t)|}{\sigma^*(a_{ij})(2 \log((T_{ij} \log \sigma^*(a_{ij}))/a_{ij})^{1/2}}.$$

For any  $\varepsilon > 0, r = r(\varepsilon) > 0$  will be specified later. Put  $r_{ij} = a_{ij}/2^r$ . For any t > 0, put  $t_r := t_{rij} = [t/r_{ij}]r_{ij}$ . Write

$$(2.14) |X_k(t+s) - X_k(t)| \le |X_k((t+s)_r) - X_k(t_r)|$$

 $< c\theta^{-\varepsilon j} (i \log \theta)^{-1-\varepsilon},$ 

$$+\sum_{l=0}^{\infty} |X_k((t+s)_{r+l+1}) - X_k((t+s)_{r+l})| + \sum_{l=0}^{\infty} |X_k(t_{r+l+1}) - X_k(t_{r+l})|.$$

Similarly to (2.14) in [1] and noting (2.11), for large T, We have

$$\begin{split} p_0 &:= P \Big\{ \sup_{0 \leq t \leq T'_{ij} - a_{T'_{ij}}} \sup_{0 \leq s \leq a_{ij} - r_{ij}} \max_{k \geq 1} \frac{|X_k((t+s)_r) - X_k(t_r)|}{\sigma^*(a_{ij})(2 \log((T_{ij} \log \sigma^*(a_{ij}))/a_{ij}))^{1/2}} \\ &\geq 1 + \varepsilon \Big\} \\ &\leq P \Big\{ \sup_{0 \leq t \leq T'_{ij} - a_{T'_{ij}}} \sup_{0 \leq s \leq a_{ij} - r_{ij}} \max_{k \geq 1} \frac{|X_k((t+s)_r) - X_k(t_r)|}{\sigma^*(a_{ij})(2 \log((T_{ij} \log \sigma^*(a_{ij}))/(a_{ij}y_{T_{ij}})))^{1/2}} \\ &\geq 1 + \varepsilon/2 \Big\} \\ &\leq \frac{4T'_{ij}}{a_{ij}} 2^{2r} \sum_{k=1}^{\infty} \exp \Big\{ -\Big(1 + \frac{\varepsilon}{2}\Big)^2 \Big( \log \frac{T_{ij} \log \sigma^*(a_{ij})}{a_{ij}y_{T_{ij}}} \Big) \frac{\sigma^{*2}(a_{ij})}{\sigma_k^2(a_{ij})} \Big\} \\ &\leq \frac{4T'_{ij}}{a_{ij}} 2^{2r} \Big( \frac{a_{ij}}{T_{ij} \log \sigma^*(a_{ij})} \Big)^{1+\varepsilon} \leq c \Big( \frac{T_{ij}}{a_{ij}} \Big)^{-\varepsilon} (\log \sigma^*(a_{ij}))^{-1-\varepsilon} \end{split}$$

If  $T'_{ij} \leq T_{ij}$  (here, c stands for a constant whose value is irrelevant). In the contrary case we have

$$T_{ij} \leq T'_{ij} \leq \theta^j a_{T'_{ij}} \leq \theta T_{ij},$$

and hence (2.15) is also true. Combining the lines of proofs of (2.15) in [1] and (2.15) and using condition (2.3) instead of (2.11) in [1] we have (2.16)

$$p_{1} := P \left\{ \sup_{0 \le t \le T'_{ij} - a_{T'_{ij}}} \sup_{a_{ij} - r_{ij} \le s \le a_{ij}} \max_{k \ge 1} \frac{|X_{k}((t+s)_{r}) - X_{k}(t_{r})|}{\sigma^{*}(a_{ij})(2\log((T_{ij}\log\sigma^{*}(a_{ij}))/a_{ij}))^{1/2}} \right.$$

$$\ge \varepsilon/2 \right\}$$

$$\le c \frac{T'_{ij}}{a_{ij}} \left( \frac{a_{ij}}{T_{ij}\log\sigma^{*}(a_{ij})} \right)^{2+A} \left( \frac{\sigma^{*}(2a_{ij}/2^{r})}{\sigma^{*}(a_{ij})} \right)^{A} \left( \frac{2a_{ij}}{2^{r}} \right)^{-A}$$

$$\le \frac{cT'_{ij}a_{ij}}{(T_{ij}\log\sigma^{*}(a_{ij}))^{2+A}} \le c\theta^{-j}i^{-2-A},$$

provided r and T are large enough. Under conditions (2.5) and (2.6) we also have the same bound.

Consider the first series in the right hand side of (2.14). Let  $b_{rij} = \sup\{b : a_{ij}/2^{r+\lceil \log_2 b a_{ij} \rceil + 1} \ge h_0\}$  and  $l_0 = \lceil \log_2 (b_{rij} a_{ij}) \rceil$ . Let  $D = 3/c_1$ ,  $x_l^2 := x_{lij}^2 = 2D \log(T_{ij} \log \sigma^*(a_{ij})/a_{ij}) + 2(1+A)l$ . If condition (2.3) is satisfied, then by (2.3) and (2.12)

(2.17)

$$\begin{split} p_2 &:= P \bigg\{ \sup_{0 \leq t \leq T'_{ij} - a_{T'_{ij}}} \sup_{0 \leq s \leq a_{ij}} \max_{k \geq 1} \sum_{l=0}^{\infty} |X_k((t+s)_{r+l+1}) - X_k((t+s)_{r+l})| \\ &\geq \sum_{l=0}^{\infty} x_l \sigma^*(a_{ij}/2^{r+l+1}) \bigg\} \\ &\leq \frac{2T'_{ij}}{a_{ij}} \sum_{l=0}^{\infty} \sum_{k=1}^{\infty} 2^{r+l+1} e^{-(1+A)l} \Big( \frac{a_{ij}y_{T_{ij}}}{T_{ij} \log \sigma^*(a_{ij})} \Big)^2 \exp \Big\{ - \Big( \frac{D\sigma^{*2}(a_{ij}/2^{r+l+1})}{\sigma_k^2(a_{ij}/2^{r+l+1})} - 2 \Big) \\ &\cdot \log \frac{T_{ij} \log \sigma^*(a_{ij})}{a_{ij}y_{T_{ij}}} \bigg\} \\ &\leq c \cdot \frac{T'_{ij}}{a_{ij}} \Big( \frac{a_{ij}}{T_{ij} \log \sigma^*(a_{ij})} \Big)^2 \Big( \sum_{l=0}^{l_0} + \sum_{l=l_0+1}^{\infty} \Big) \sum_{k=1}^{\infty} 2^l e^{-(1+A)l} \Big( \frac{\sigma_k(a_{ij}/2^{r+l+1})}{\sigma^*(a_{ij}/2^{r+l+1})} \Big)^A \\ &\leq c \cdot \frac{T'_{ij}}{a_{ij}} \Big( \frac{a_{ij}}{T_{ij} \log \sigma^*(a_{ij})} \Big)^2 \Big( \sum_{l=0}^{l_0} B 2^l e^{-(1+A)l} + \sum_{l=l_0+1}^{\infty} d_1 2^l e^{-(1+A)l} \\ &\cdot (a_{ij}/2^{r+l+1})^{-A} \Big) \\ &\leq c \cdot \frac{T'_{ij}}{a_{ij}} \Big( \frac{a_{ij}}{T_{ij} \log \sigma^*(a_{ij})} \Big)^2 \leq c\theta^{-j} (i \log \theta)^{-2} \end{split}$$

for large r and T. Also, if conditions (2.5) and (2.6) are satisfied, we have the same bound.

For the second series in the right hand side of (2.14), we also have the same conclusion.

Moveover, it follows from condition (2.1) that

(2.18) 
$$\sum_{l=0}^{\infty} x_l \sigma^*(a_{ij}/2^{r+l+1}) \le \frac{\varepsilon}{4} \sigma^*(a_{ij}) \left( \log \frac{T_{ij} \log \sigma^*(a_{ij})}{a_{ij}} \right)^{1/2}$$

provided r is large enough (cf. (2.20) in [1]). Combining these estimators, we obtain

$$\sum_{i=1}^{\infty} \sum_{j=1}^{J} P \left\{ \sup_{0 \le t \le T'_{ij} - a_{T'_{ij}}} \sup_{0 \le s \le a_{ij}} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^*(a_{ij})(2\log((T_{ij}\log\sigma^*(a_{ij}))/a_{ij}))^{1/2}} \\ \ge 1 + 2\varepsilon \right\} < \infty.$$

Therefore by the Borel-Cantelli lemma, the right hand side of (2.13) is bounded by one almost surely. (2.4) is proved.

Now we prove (2.10). Having (2.4), it is enough to show

(2.19) 
$$\limsup_{T \to \infty} \sup_{0 \le t \le T - a_T} \max_{k \ge 1} \frac{|X_k(t + a_T) - X_k(t)|}{\sigma^*(a_T)(2\log(T/a_T))^{1/2}} \ge 1 \quad a.s.$$

Using (2.8), Slepian's lemma and independence of  $\{X_k(\cdot)\}_{k=1}^{\infty}$ , we have for  $T_n(\uparrow \infty)$  large enough

$$P \left\{ \sup_{0 \le t \le T_n - a_{T_n}} \max_{k \ge 1} \frac{|X_k(t + a_{T_n}) - X_k(t)|}{\sigma^*(a_{T_n})(2\log(T_n/a_{T_n}))^{1/2}} < 1 - \varepsilon \right\}$$

$$\le P \left\{ \max_{0 \le j \le T_n/a_{T_n}} \max_{k \ge 1} \frac{X_k((j+1)a_{T_n}) - X_k(ja_{T_n})}{\sigma^*(a_{T_n})(2\log((T_n\log\sigma^*(a_{T_n}))/(a_{T_n}y_{T_n})))^{1/2}} < 1 - \varepsilon \right\}$$

$$\le \prod_{j=0}^{[T_n/a_{T_n}]} \prod_{k=1}^{\infty} \left\{ 1 - \exp \left\{ -\frac{(1-\varepsilon)\sigma^{*2}(a_{T_n})}{\sigma_k^2(a_{T_n})} \log \frac{T_n\log\sigma^*(a_{T_n})}{a_{T_n}y_{T_n}} \right\} \right\}$$

$$\le \prod_{j=0}^{[T_n/a_{T_n}]} \exp \left\{ -\sum_{k=1}^{\infty} \left( \frac{a_{T_n}y_{T_n}}{T_n\log\sigma^*(a_{T_n})} \right)^{(1-\varepsilon)\sigma^{*2}(a_{T_n})/\sigma_k^2(a_{T_n})} \right\}$$

$$\le \exp \left\{ -\frac{T_n}{a_{T_n}} \left( \frac{a_{T_n}}{T_n\log\sigma^*(a_{T_n})} \right)^{1-\varepsilon} \right\} \le \exp \left\{ -\left( \frac{T_n}{a_{T_n}} \right)^{\varepsilon/2} \right\} \to 0$$

as  $n \to \infty$ . Hence (2.10) is proved.

Finally we prove (2.9). Recalling (2.4), it suffices to show that the "liminf" is not less than one almost surely. Let  $a'_{ij} = \inf\{a_T, T \in A_{ij}\}, t'_{ij} = \inf\{T : a_T = a'_{ij}, T \in A_{ij}\}, t_{ij} = \inf\{T : T - a_T = \inf_{T \in A_{ij}}(T - a_T), T \in A_{ij}\}$ . We have

Then, similarly to (2.20) we have

$$P\left\{ \max_{0 \le l \le t_{ij}/a'_{ij}} \max_{k \ge 1} \frac{|X_k((l+1)a'_{ij}) - X_k(la'_{ij})|}{\sigma^*(a'_{ij})(2\log((t'_{ij}\log\sigma^*(a'_{ij}))/(a'_{ij}y_{t'_{ij}})))^{1/2}} < 1 - \varepsilon \right\}$$

$$\le \exp\left\{ -\frac{t_{ij}}{a'_{ij}} \left( \frac{a'_{ij}}{t'_{ij}\log\sigma^*(a'_{ij})} \right)^{1-\varepsilon} \right\}$$

$$\le \exp\left\{ -(t'_{ij}/a'_{ij})^{\varepsilon/2}\log\sigma^*(a'_{ij}) \right\} \le \exp\left\{ -\theta^{(j-1)\varepsilon/2}(i\log\theta) \right\}.$$

The second inequality is due to (2.8) again. Hence by the Borel-Cantelli lemma, (2.9) is proved. This completes the proof of theorem 1.

The second part is to consider the case that  $\sigma^{*2}(h) \to \sigma^{*2} < \infty$  as  $h \to \infty$ . For example, if  $X_k(\cdot)$ ,  $k=1,2,\cdots$ , are Ornstein-Uhlenbeck processes,  $\sigma^*(h)$  is bounded. Let  $\sigma_k^2 = \lim_{h \to \infty} \sigma_k^2(h)$  and  $z_T$  be the solution of the equation

(2.21) 
$$\sum_{k=1}^{\infty} \left(\frac{a_T z_T}{T}\right)^{\sigma^{*2}/\sigma_k^2} = \frac{a_T}{T}.$$

Let  $\alpha > 1$  be given, m a positive integer. Put

$$L_m x = \underbrace{\log_{\alpha} \cdots \log_{\alpha}}_{m \ fold} x, d(m, r) = \underbrace{\alpha^{\alpha}}_{m \ fold}^{\alpha}.$$

**Theorem 2.** Suppose that  $\sigma^*(h) \to \sigma^*$  as  $h \to \infty$  and that there exists A > 0 such that

$$(2.22) \sum_{k=1}^{\infty} \sigma_k^A < \infty.$$

And suppose that there exist  $2 \le \alpha < e, 0 < \delta < 1 - 1/\alpha$  and integer  $m \ge 1$  such that

(2.23) 
$$\int_{1}^{\infty} \sigma^{*}(\alpha^{-x^{2}}) dx < \infty,$$

(2.24) 
$$a_T \le Td(m, (L_m T)^{\delta + 1/\alpha})^{-1}.$$

Then

(2.25) 
$$\limsup_{T \to \infty} \sup_{0 \le t \le T - a_T} \sup_{0 \le s \le a_T} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^* (2\log(T/a_T))^{1/2}} \le 1 \quad a.s.$$

If, in addition,  $X_k(\cdot), k = 1, 2, \cdots$ , are independent and (2.7) is satisfied, then

(2.26) 
$$\lim_{T \to \infty} \sup_{0 \le t \le T - a_T} \sup_{0 \le s \le a_T} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^* (2\log(T/a_T))^{1/2}} = 1 \quad a.s.$$

and

(2.27) 
$$\limsup_{T \to \infty} \sup_{0 < t < T - a_T} \max_{k \ge 1} \frac{|X_k(t + a_T) - X_k(t)|}{\sigma^* (2 \log(T/a_T))^{1/2}} = 1 \quad a.s.$$

Remark 3. It is easy to see that

$$d(m, (L_m T)^{\delta + 1/\alpha}) = T^{(L_1 T)^{-1 + (L_2 T)} \cdot \cdot \cdot -1 + (L_m T)^{-1 + \delta + 1/\alpha}}$$

Put  $d(m,(L_mT)^{\delta+1/\alpha})=T^{(L_1T)^{-1+o(T,m)}}$ . Then  $o(T,m)\to 0$  and  $\frac{o(T,m+1)}{o(T,m)}\to 0$  as  $T\to\infty$ . Hence, as  $T\to\infty$ ,

$$\begin{split} d(m,(L_mT)^{\delta+1/\alpha}) &= \alpha^{(L_1T)^{o(T,m)}} \leq \alpha^{(L_1T)^{\varepsilon}} \quad \text{for any } \varepsilon > 0, \\ d(m+1,(L_{m+1}T)^{\delta+1/\alpha})/d(m,(L_mT)^{\delta+1/\alpha}) &\to 0. \end{split}$$

Proof of Theorem 2. Without loss of generality, we assume  $m \geq 3$ . Similarly to Theorem 1, condition (2.22) guarantees that the solution of equation (2.21) exists and is unique. Moreover, there exists 0 < b < 1 such that  $z_T \geq b$ .

It is easy to see from (2.24) that

(2.28) 
$$\frac{\log(T/a_T)}{\log\log T} \to \infty \quad as \quad T \to \infty.$$

For  $\theta > 1$ , define  $A_j = \{T: \theta^{j-1} \le T/a_T < \theta^j\}$ ,  $a_j = \sup\{a_T: T \in A_j\}$ ,  $T_j = \sup\{T: a_T = a_j, T \in A_j\}$  and  $T_j' = \sup\{T: T - a_T = \sup_{T \in A_j} (T - a_T), T \in A_j\}$ . Given t > 0 for any t > 0 put  $t_r^j := t_r(a_j) = [td(m+2,r)/a_j](a_j/d(m+2,r))$ . Write

(2.29)

$$\begin{split} |X_k(t+s) - X_k(t)| &\leq |X_k((t+s)_r^j) - X_k(t_r^j)| \\ &+ \sum_{l=0}^{\infty} |X_k((t+s)_{r+l+1}^j) - X_k((t+s)_{r+l}^j)| \\ &+ \sum_{l=0}^{\infty} |X_k(t_{r+l+1}^j) - X_k(t_{r+l}^j)|. \end{split}$$

For  $\delta > 0$  in (2.24), let  $\delta_1$  satisfy  $1 - 1/\alpha - \delta < \delta_1 < 1 - 1/\alpha$ . And let  $\varepsilon(a_T) = d(m-1, (L_m a_T)^{1-\delta_1})/\log_\alpha a_T$ ,  $r := r(a_j) = L_{m+2} a_j^{\varepsilon(a_j)}$ ,  $r' := r'(a_j) = L_{m+2} a_j$ . Then  $d(m+2, r) = a_j^{\varepsilon(a_j)}$  and  $d(m+2, r') = a_j$ , moreover,

(2.30) 
$$0 < r' - r = L_{m+2}a_j - L_m[(L_2a_j)(1 + \frac{L_1\varepsilon(a_j)}{L_2a_j})]$$
$$= -L_1(1 - \delta_1) < 1.$$

Similarlyly to (2.15), we have

(2.31)

$$\begin{split} p_0' &:= P \Big\{ \sup_{0 \leq t \leq T_j' - a_{T_j'}} \sup_{0 \leq s \leq a_j} \max_{k \geq 1} \frac{|X_k((t+s)_j^r) - X_k(t_j^r)|}{\sigma^* (2\log(T_j/a_j))^{1/2}} \\ &\geq 1 + \varepsilon \Big\} \\ &\leq \frac{4T_j'}{a_j} d(m+2,r)^2 (\frac{a_j}{T_j})^{1+\varepsilon} \leq 4a_j^{2\varepsilon(a_j) + \varepsilon} (T_j'/T_j) T_j^{-\varepsilon} \leq 5a_j^{2\varepsilon(a_j) + \varepsilon} T_j^{-\varepsilon} \end{split}$$

if  $T'_i/T_j \leq 1$ . In the case of  $T'_i/T_j > 1$ , we have

$$T_j < T_j' \le \theta^j a_{T_j'} \le \theta^j a_j \le \theta T_j.$$

Hence (2.31) holds true in any case provided  $\theta < 5/4$ . By condition (2.24) we obtain

$$a_j^{2\varepsilon(a_j)+\varepsilon/2} \leq T_j^{2\varepsilon(a_j)+\varepsilon/2} d(m, (L_mT_j)^{\delta+1/\alpha})^{-\varepsilon/2} \leq T_j^{\varepsilon/2}.$$

Inserting it into (2.31) yields

$$p_0' \le 5(T_j/a_j)^{-\varepsilon/2} \le 5\theta^{-(j-1)\varepsilon/2}$$
.

Let  $x_l^{'2} := x_{lj}^{'2} = 4\log(T_j/a_j) + 2(1+A)d(m+1,r+l+1).$  Then we have (2.32)

$$\begin{split} p_2' &:= P \Big\{ \sup_{0 \leq t \leq T_j' - a_{T_j'}} \sup_{0 \leq s \leq a_j} \max_{k \geq 1} \Big| \sum_{l=0}^{\infty} \Big( X_k ((t+s)_{r+l+1}^j) - X_k ((t+s)_{r+l}^j) \Big) \Big| \\ &\geq \sum_{l=0}^{\infty} x_l' \sigma^* (a_j/d(m+2,r+l+1)) \Big\} \\ &\leq \frac{4T_j'}{a_j} (\frac{a_j}{T_j})^2 \sum_{l=0}^{\infty} \sum_{k=1}^{\infty} d(m+2,r+l+1) e^{-(1+A)d(m+1,r+l+1)} \\ & \cdot \exp \Big\{ - \Big( \frac{2\sigma^{*2} (a_j/d(m+2,r+l+1))}{\sigma_k^2 (a_j/d(m+2,r+l+1))} - 2 \Big) \log \frac{T_j}{a_j} \Big\} \\ &\leq \frac{4a_j}{T_j} \frac{T_j'}{T_j} \sum_{l=0}^{\infty} d(m+2,r+l+1) e^{-(1+A)d(m+1,r+l+1)} \\ & \cdot \sum_{k=1}^{\infty} \Big( \frac{\sigma_k (a_j/d(m+2,r+l+1))}{\sigma^* (a_j/d(m+2,r+l+1))} \Big)^A. \end{split}$$

Noting 0 < r' - r < 1 (see (2.30)), we have

$$a_i/d(m+2,r+l+1) \le d(m+2,r')/d(m+2,r+1) \le 1$$

for  $l \ge 0$ . Hence, using the fact that  $\sigma^{*2}(h) > dh^2$  for 0 < h < 1, we obtain

$$\sigma^*(a_i/d(m+2,r+l+1))^{-A} \le d^{-A/2}(a_i/d(m+2,r+l+1))^{-A}$$

and further

$$p_2' \le \frac{5d^{-A/2}a_j^{1-A}}{T_j} \sum_{l=0}^{\infty} (\alpha/e)^{(1+A)d(m+1,r+l+1)} \le c\theta^{-j}.$$

For the second series of the right hand side of (2.29), we have the same estimator.

Let  $\beta > 0$  satisfy  $r' - r + \beta < 1$ . Then

$$\sum_{l=0}^{\infty} d(m+1,r+l+1)^{1/2} \sigma^*(a_j/d(m+2,r+l+1))$$

$$\leq \sum_{l=0}^{\infty} \left(1 - \left(\frac{d(m+1,r+l+1-\beta)}{d(m+1,r+l+1)}\right)^{1/2}\right)^{-1} \int_{d(m+1,r+l+1-\beta)^{1/2}}^{d(m+1,r+l+1)^{1/2}} \sigma^*(a_j\alpha^{-y^2}) dy$$

$$\leq \left(1 - \left(\frac{d(m+1,r+1-\beta)}{d(m+1,r+1)}\right)^{1/2}\right)^{-1} \int_{d(m+1,r+1-\beta)^{1/2}}^{\infty} \sigma^*(\alpha^{d(m+1,r')-y^2}) dy$$

$$\leq \left(1 - \left(\frac{d(m+1,r+1-\beta)}{d(m+1,r+1)}\right)^{1/2}\right)^{-1} \int_{d(m+1,r+1-\beta)^{1/2}-d(m+1,r')^{1/2}}^{\infty} \sigma^*(\alpha^{-y^2}) dy$$

$$\leq \varepsilon$$

provided T is large enough by condition (2.23). Furthermore, obviously, (2.33) implies

$$\sum_{l=0}^{\infty} \sigma^*(a_j/d(m+2,r+l+1)) \le \frac{\varepsilon}{8} \sigma^*$$

for large T. Then

$$\sum_{l=0}^{\infty} x_l' \sigma^*(a_j/d(m+2,r+l+1)) \le \frac{\varepsilon}{2} \sigma^* \left(2 \log \frac{T_j}{a_j}\right)^{1/2}.$$

Combining these results, we obtain

$$\sum_{j=1}^{\infty} P \Big\{ \sup_{j \geq 1} \sup_{0 \leq t \leq T_j' - a_{T_j'}} \sup_{0 \leq s \leq a_j} \max_{k \geq 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^* (2 \log(T_j/a_j))^{1/2}} \leq 1 + 2\varepsilon \Big\} < \infty,$$

which implies (2.25).

The proofs of (2.26) and (2.27) are similar to that of (2.9) and (2.10) respectively when we use  $(1+\varepsilon)\sigma^*(a_T)$  instead of  $\sigma^*$  (noting  $\sigma^* \leq (1+\varepsilon)\sigma^*(a_T)$  for large T), so they are omitted. Theorem 2 is proved.

Remark 4. Employing the similar method we can relax the restriction (2.3) for  $a_T$  in [2],i.e., we can use  $\alpha$  close to e enough instead of  $\alpha = 2$ .

As an application of Theorem 2, we establish the large increment result for  $l^{\infty}$ -valued Ornstein-Uhlenbeck process. Let  $\{Y(t), -\infty < t < \infty\} = \{X_k(t), -\infty < t < \infty\}_{k=1}^{\infty}$  be a sequence of independent Ornstein-Uhlenbeck processes with coefficients  $\gamma_k \geq 0$  and  $\lambda_k > 0$ . We have  $\sigma_k^2(h) = \frac{2\gamma_k}{\lambda_k}(1 - e^{-\lambda_k h})$  and  $\sigma_k^{*2} = \frac{2\gamma_k}{\lambda_k}$ ,  $k = 1, 2, \cdots$ . It is well-known that (2.7) is satisfied.

Corollary 1. Suppose that there exists A > 0 such that

$$\sum_{k=1}^{\infty} \left( \gamma_k / \lambda_k \right)^A < \infty$$

and that there exist  $2 \le \alpha < e, 0 < \delta < 1 - 1/\alpha$  and integer  $m \ge 1$  such that (2.23) and (2.24) are satisfied. Then

$$\lim_{T \to \infty} \sup_{0 \le t \le T - a_T} \sup_{0 \le s \le a_T} \max_{k \ge 1} \frac{|X_k(t+s) - X_k(t)|}{\sigma^* (2 \log(T/a_T))^{1/2}} = 1 \quad a.s.$$

$$\limsup_{T \to \infty} \sup_{0 < t < T - a_T} \max_{k \ge 1} \frac{|X_k(t + a_T) - X_k(t)|}{\sigma^* (2 \log(T/a_T))^{1/2}} = 1 \quad a.s.$$

### REFERENCES

- Csörgő,M., Lin,Z.Y. and Shao,Q.M., Path properties for l<sup>∞</sup>-valued Gaussian processes, Proc. Amer. Math. Soc. 121 (1994), 225-236.
- Lin,Z.Y., How big are the increments of l<sup>p</sup>-valued Gaussian processes, Science in China, 40 (1997), 337-349.

DEPARTMENT OF MATHEMATICS, HANGZHOU UNIVERSITY, HANGZHOU 310028, P. R. CHINA